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Con_GetD(Lxz_Con)
Crack

Con_Crack1(C) Crack==-2
Con_Crack2(C) Crack==-1
Con_Crack3(C) Crack==0
Con_Crack4(C) Crack==1
Con_Crack5(C) Crack==
Con_Crack100(C) Crack==100
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= Con_N2Crack01(C)

= Con_N2Crack02(C)
= Con_N2UnLoad(C)
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= Con_N1Crack01(C)

= Con_N1Crack02(C)
= Con_N1UnLoad(C)
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Con_NoCrack01(C)
a >0.2

= Con_NoCrack02(C)
a <0.2

Con_NoCrack03(C) o <-
0.05

Con_NoCrack04(C) o >-
0.05

= Con_NoCrack05(C)
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Con_NoUnLoad01(C)
a >0.2

Con_NoUnLoad02(C)
o <0.2

Con_NoUnLoad03(C)
a <-0.05
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Con_P1Crack01(C)
Con_P1Crack02(C)
Con_P1Crack03(C)
Con_P1Crack04(C)
Con_P1Crack05(C)

Con_NoUnLoad04(C)

a >-0.05

Con_NoUnLoad05(C)

Con_P1UnLoad01(C)
Con_P1UnLoad02(C)
Con_P1UnLoad03(C)
Con_P1UnLoad04(C)
Con_P1UnLoad05(C)

>0.2
<0.2
<-0.05
>-0.05

a >0.2
a <0.2
a <-0.05
a >-0.05
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Con_P1Crack06(C)
Con_P1Crack07(C)
Con_P1Crack08(C)
Con_P1Crack09(C)
Con_P1Crack10(C)
Con_P1Crack11(C)
Con_P1Crack12(C)
Con_P1Crack13(C)
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Con_P2Crack01(C)
Con_P2Crack02(C)
Con_P2Crack03(C)
Con_P2Crack04(C)

Con_P2Crack05(C)

>0.2

<0.2

<-0.05

>-0.05
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= Con_P2Crack06(C)
Con_P2Crack07(C)
Con_P2Crack08(C)
Con_P2Crack09(C)
Con_P2Crack10(C)
Con_P2Crack11(C)
Con_P2Crack12(C)
= Con_P2Crack13(C)
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B= min(Bcrackl Bcrackz)
Con_P2Crack14(C)

Con_P2Crack15(C)
Con_P2Crack16(C)
Con_P2Crack17(C)
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n MARC user subroutine
hyperelastic

SUBROUTINE HYPELA (D,G,E,DE,S, TEMP,DTEMP,NGENS,N,NN,KC,
MATS,NDI,NSHEAR)

n MARC PLOTV
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